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LT R ) owing Act laid
Ocondmons for nationalisation

Banj(l-n y Co . o
and Tr&ansfg‘pames (Acquisition
Qm, 1970
eserve Bank of Indj
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anking Regulation A
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Which among the following was the
primary outcome of the liberalisation
and privatisation initiatives under the
New Economic Policy (NEP) in 1991 ?
(A) Fiscal policy reforms
(B) Monetary policy reforms
(C) Globalisation
(D) None of these

frfefaa § & fpg wa § gfta wifd &
TTH FEIHAAATATGTE 7

(A) Si. IR FIH
(B) H.TH.ETHATEA

(©) v pieA
(D) am

Who among the following is known as the
father of green revolution in India ?

(A) Dr. Arun Krishnan

(B) M.S. Swaminathan

(C) Verghese Kurien

(D) Sam Pitroda

(B)

of Undertakings).

e 03 e,

o4« 9T Hiyar 3 fem DPSP (t@‘gtﬁfg:;
T frga) fefafed i
HfaA A A 9 2 ,
(A) JTd.u, B) W
(C) 3mateie D) @ﬁ@:ﬁg:‘?
DPSP  (Directive Principles © ale
Policy) for Indian Constitution vas
inspired by which among the following
Constitutions ?

(B) France

(A) UsA

(C) Ireland (D) Noneof these
5. e wfgum % :ﬂﬂt@q 19 # @A &I

sftrpr mfye 2 7

(A) wdurfas m'maﬁ.m
(B) =g 3R stfiyeafcs @A 1
(C) iryur 3 fg TUHN
(D) o < Tadaa w1 ATER
Article 19 of the Indian Constitution
includes which rights ?

(A) Right to constitution
(B) Right to freedom 0
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al remedies
f speech and
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- expression

(C) Right against exploitation
(D) Right to freedom of religion
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6.
IR B8 ?
A) faum-wes (B) A
(C) =mwifert (D) % & g T
1. to whom the

In a parliamentary systen
executive is responsible ”
(A) The legislature (B)
(C) The judiciary (D)

N Frforfiaa & @ F17 o e gfaue H
g fdmmr wgie 7

(A) forRaa a7k ferega Hfaum

(B) fi-walawwR

(©) THd
(D) T AR

Which among the following is not a.
salient feature of Indian Constitution ?
(A) Written and Detailed Constitution
(B) Two-tier Government

(C) Single Citizenship

(D) Universal Adult Franchise

The people
None of these
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: g Esie ?
87 T — qua | a5, fefafEad {1 i wEa =<1
?&g = Tl 0% Which of the following fractions 1s the
(A) 76T  (B) 7487 'arg“tl ; 7
(C) 7564 (D) 3T Y PR TG A 1z B) 3
One horse power is equal to 1 ;
approximately how many watts ? 31 D o3
(A) 746 waits  (B)~ 748 watts © 70 @) %o
J)/ (C) 756 watts (D) None of these L ay

C e § @ W@ o (6T3-(@38) ;
Sfifira e R 7 14. 6737+ 6.73 x 4.38 + (438)? )%?
(A) HIE BT A (A) 2.35 (B) 4.35 . YA
(B) ISt <1 9T (©) 335 (D) 5.35 By (R
(C) T 1 ST A
gg})l }:mﬁwmﬁm J5— 19 %1 ke SR 7.6 2 7

ich of the following i o Bt gfermma

chemigal reactizn '?0 e, - n.ot ‘ IIE]gf@ (Aa) 40 (B)" 48
(A) Burning of coal B (c) eowfawa (D) 35 ufawE R
(B) Digestion of food e Y

(C) Burning of paper
(D) Conversion of water into steam

N, i@ i g frgman

What percent of 19 is 7.6 ?
(B) 48 percent
(D) 35 percent

!}
(A) 40 percent
(C) 60 percent

oy

F5a

(A) A B 3 o :

oL fD; i = 16 60 80 % i3 A WA 0y g

Pyorrh_oea is a diseasc of which of the 1 3R G €3 '1:1;'% &

{Ic;l)lowglng ? _ The average of all prime numbers

© H:::t ((g‘ I(jltllnmi between 60 to 80 is: €| +6 2+6T+73+74

b b 2 Gﬁ‘ & 33 (A) 702 (B) 722

S _ , S Fefefea © 712 (D) 73.2

ored w2 7

(a) i 17. V12040912580

® 3 -0409—-+/1.2544 =

(C) SRl & S 37 (A) 235 (B) 2.25

g; Eara| A © 135 D) 1.25

oem is a tissue found i hi 3
among the following ? i . . Prafafa # @ 9 a1 g R S §
Eg; Il\’/}ants 1 W e S ? 2
ammals R )
El(% IReproductive organs of animals G e (B) E@ﬁﬂ%@g
: nsects (C) :{rgfzngﬁ;g ®) m@g

J& ¥R B Tl O e H R e Which among the following acid is

(A) THER (B) WHwR used in car battery ?

g?) RS (D) IRER (A)  Acetic acid

ow many tiers are there in th ic aci

Panchayati Raj System of India ?m ¢ ® H'yd‘r OCh.l S

(A) - One tier (B) Three tiers . (© Nitric acid

(©) Twotiers (D) Four tiers (D) Sulphuric acid
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(D) g @ |
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(A) g9 B) wwam
©) e D) wem  EiE
2E R feim g &
() Ay B) S
23 T i wi-frede v gm ¢
(A) FH+EET (B) &+ NI
© F+gue (D) A FE A

Read the passage carefully and answer the
corresponding questions : (24 and 25)
For the past week Elizabeth would come
home from work and discover that- her
apartment smelled like cigarette smoke. She
did not know where the smell was coming
from. Elizabeth didn’t smoke. No one else
had the key to her apartment to smoke inside
while she was at work. The smell of smoke
especially bothered her because she had
asthma. One day Elizabeth stayed home from
work because she was expecting a package.
When she woke up that morning, the
apartment smelled fine. At one in _the
afternoon, Elizabeth went into the kitchen to
make a sandwich for lunch. That was when
she noticed the smell of cigarette smoke. She
called the building’s superintendent. By the
time he arrived at Elizabeth’s apartment, the
whole place smelled like cigarette smoke.
The superintendent told Elizabeth that he was.
r&r\cn?‘ sure the smoke was coming up through
¢ vents from her new downstair’s neighbour.

03—
)

The new neighbour was a smoker. The
superintendent told Elizabeth that there wag
nothing to be done. The building was real]y
old and the vents couldn’t be sealed. It wag
also perfectly legal for the downstair’g
neighbour to smoke in his apartment. "Hg
suggested that Elizabeth should buy an ajr
filter and sec if that would help. Elizabeth
bought an air filter but didn’t find it to-be
enough. Her asthma was getting worse. Her
clothes and furniture were beginning 10 sme]]
like cigarette smoke too. Elizabeth decided to
go downstairs to talk to the neighbour. She
was going to ask him not to smoke in hijg
apartment. Elizabeth knocked on the door.
When he opened the door, a huge wave of:
cigarette smoke came out. Elizabeth began
coughing violently. The neighpour gave
Elizabeth a disgusted look. “Are you trying to
get me sick ?” the ncighbour asked her,
Elizabeth couldn’t believe what he was
saying. “No, but you are ?” she said.

24, Elizabeth’s new neighbour lived _.
g (A) besides her house

(B) upstairs

(C) downstairs

(D) nextto her

7" Elizabeth was suflcring from

(A) Pneumont
(B) Asthma

(C) Bronchitis
(D) - Cardiovascular disease : !

Choose the correct antonym : “Moum”
(A) Joy (B) Vitalize .
(C) Motivate (D) None of these i

\_?77./ Give one word substitute for the following:
“gne who sells articles at public sales”

(A) Auctionor  (B) Juggler
(C) Shopkeeper (D) Auctioneer

_28. Choose the correct synonym : “Exile”
(A) Banishment (B) Expose
(C) Mystery (D) Proof

26.

T -
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e _ ' frgg g4 / Find the o W +)<6
. W w @ ow oo W R “}6'/313?7,23,33’67 2z F N
Pt 3 2 e e et 7 Q1 @A) 13 & 5 a7
HyAl % e ey @ wE eT A Ui g | © 17 S e B
HYA : 3 6 > £ | v
" : 2 <ff= 1 IV AA B S . hand
1. g wfueor 3 g @ e H Find the angle between ﬂ;e k(:tIG'lQ,,
. C 5
grEF e EA TG dE | = and the minute hand (oBf)a < 10250 o
: " . [migin 138° d
I W d oR-91) s fl g (L Eé)) g (D) 180° Y
Horfaf R | . ﬁA@%#Wﬁﬁ%ﬁWGﬂﬁT%,
(A) w1 FRO 8 3 FUF 1T 39H1 Baﬁzs%wﬁmﬁmm%,r
AR | @24angﬁﬁ%a_mmm% .....
(B) A 1 3 AT T F0 2 | szA1HTIA Rl 8
‘ @ MOBILE % forg e @i |
(C) Hu Il T & 3 e [ 6 If A is coded as 26, B is coded as 25, C
THE R | iscoded as 24 ......... and Z is coded as
1, then find the code for MOBILE.
(D) A FE 1 3R 1 forelt wmr (A) 152214181252 (B) 122518152214
0T T B | ! (C) 181522141225 (D)« 141225181522
Read both the statements and decide 33. < TS fe-3a1 a1 Hl TRl ‘Tiv?ﬂé
which of the following answer choice N TH Tsf AT <t o fora =1 o
correctly  depicts the relationship TR ?
between these two statements. ) (A) (B) EH
Statements : (oﬁm@gmfﬁMﬁﬁ
. . A new species of Damsel fly name e
k ?ollce aulho'n ty = . recently Anamalai Reed-tail has been discovered
increased  vigil during  the ¥ whichstats ?
morning hours in the city. (A) Kerala (B) Assam
II. There has been considerable (C) TamilNadu (D) None ofthese
rcTiucm?n ::et:i incidents of petty \}4/ Y e D wa1, “TB a. RF 38 o %
e e o e @ 07 3 v
(A) Statement I is the cause and Ferft ?
statement II is its effect. (A) =T ®) fmr
(B) Both the statements I and II are (C) ™ (D) T=HAPETE
independent causes. f(’}?}?i Sagdhm V]ivek, “That person is the
(C) Statement II is the cause and - \;lfh::tr \?/0:113 gogi!::r:ltlhlfirn‘? gmy o
statement I is its effect. (A) Uncle
(B) Father
D) Bo}h the statements I and II are (C) Maternal Grandfather
effects of some common cause. (D) None of these
m——r—— § 19130 T® 8-
@ pncPEFearTrnnce o (755 35y,
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413) %ﬁz:mu@mm @g Haﬁ;éw‘rﬁn(ﬁz?ﬁ)ﬁtWM‘
SIEIEC | AEHI ?

(A
© wn & U Diam
(D) 7
INS Tarkash conducted D;THM - Tata Power Solar started, India’s largest
aritime Floating Solar Power Project in which

Partnership Exerci i

: 1se with

Z};g)s_Almazz (PC 411) and i 2
) in the Red Sea. e

(A) Om

© o D e
%T;{_{ﬁ%l? feifea & @ fr &9 @ g
(A) ImE=

(B) SIHRHT AT

(©) reTary whed

(D) fw=rTm

: S
Jagriti’ is a mascot related to which

among the following fields ?

0

state ?
(A) Assam
(C) Kerala

e wew # 21 Reada 99w Inam
97 TRR 2022 7 29 % e H@ g31 7
(A) WA 3R EA

(B) a3 wE

(C) a 3R Fges fehmrem

(D) R 37K g TS SN
Between which countries the 21-day
joint exercise Vajra Prahar 2022

concluded in Himachal Pradesh ?

(B) Bihar
(D) Odisha

(A) Income Tax
(B) Consumer Awareness of I (A) India and Russia
(C) Climate Change I;"l' E]I (B) India and France
(D) Crypto Currency ) (C) India and United Kingdom
377 wery i e sitmarg w1 e Am Rk | (D) India and United States of America
(A) @mRTR B 9 4 Preferiaa i @ oo 3 e, 2022,
(C) griRE (D) @ s Reenfea & ew 1 7gr & fg
Write the new name of Aurangabad T aefuE da (I0A) % d¥
located in Maharashtra. Srefemfer ATgerll ) dreun 7 &
(A) Sambhaji Nagar (B) Dhule fremig 25 1 Rafs
(C) Dharashiv (D) Satara (4
@®) fott
s iR fawm W e W% (C) TwITETmE
Teeela Guda Gg Y IFAG I FEPT (D) 3.
JaiafFmma ? In July, 2022 which of the follo
) 3 company announced a long:
(A) I (B) ILT=R: partnership  with Indian  Olymp
(Cy == (D) &4 Association (If(?/ia) to elevate M
: : formances of Indian athletes ? |
Which country’s All-Party Parliamentary per : PR
Group on Indian Traditional Sciences (A) Re.llance Industries Limited
conferred the Ayurveda Ratna award ? (B) Wipro _
(A) UK (B) UAE (C) Tata Enterprise
03
63 3
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s, 2ozzﬁ,aﬁrﬁaﬁ—s‘ﬁmﬁwg
%1 Srerary v fredt 1 frepfera

¥ foq frmss @y we gwsdl FOH W
FEE Ry E 7

(A) Ty (B) T .
(€) FFEAN (D) yﬁﬁ@é?ﬁﬁ
In July, 2022, Coffee Board has §1gned
an MoU with whom to develop climate-
resistant varieties of the coffee crops ?

(A) TNAU (B) ISRO

(C) DRDO (D) None of these
frefefaa & & #97 @1 20 W@ % 9y
TR T ST dm A w8 ?
(A) aieren B) T

(C) dure (D) & & I AE

Which among the following countries
shares longest international boundary
with India ? ]

(A) Bangladesh (B) Bhutan

(C) Nepal (D) None ofthese g
frfefea # &9 & a6l e 8 7
(A) SEEem (B) ¥R

©) wafem (D) T AFE T

Which among the following is the
capital of Israel ?

(A) Jerusalem (B) Baghdad
(C) Dublin (D) None of these

ST FHHANT GIde T 3274 B:

(A) freme far

(B) < 4 W@ uTHivT Sk deh! Y
AT A Iy

(C) wHAB Weihalall ! gEFR

(D) SHarhY e

The objective of the ‘Dak Karmayogi’

portal is : g

(A) Grievance Redressal

(B) Enhance the competencies of
~ about 4 lakh Gramin Dak Sevak
©

3% Force Day ?
![ﬁ?%é (A) 8 February

Awarding Best Performers
(D) Participation of Public

e e . g3
Wﬁammﬁwm
o« (A) FRES (B) FATH
c) onfem (D) T %
thich of the following states has
Legislative Council 7 N,
A Jharkhand (B) am
st (D) Gujarat

(©) Odisha

5 e ot s g e fe 3w

FARTSTATE 7

(A) 8FE @) 8 s
FaREL (D) 87as
il lebrated as Indian Air

Which day is ce
(B) 8 September

(C) 8 October (D) & November

480 Frefofaa #§ @ fF& T 1 whiects Hft

FEISEIR 7
@ w (B) TR
() =gl (D) TIfem

Which among the following is also
known as Scotland of India ?

(A) 'Coorg (B) ‘Srinagar
(C) Mussoorie (D) Darjeeling”

W97 % nya § Rk Y yRaRe

wER |
(A) am“f (B) g el
©) st (D) T AHE TE

___art is the traditional art of
stenciling from Mathura.

(A) Kajari (B) Miniature art
(C) Sanjhi (D) None of these

50, TreafeRea # & 2014 § s T @ v

09T TS HH AR 7

(A) =T (B) ¥R@s

(C) IvEe (D) - Tfeem
Which among the following is the 29t
state of India created in 2014 ?

(A) Telangana (B) Jharkhand
(C) Uttarakhand (D) Sikkim
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e 1 Wi geres FrafoRem amede R2IEVCEd

s Wémﬁﬁi@ﬁa@ M(@iss)%wm lwxﬁ}ﬁ
B S HTeH AN R T i
. TATE Tl %@%laﬁmhﬁﬁcﬁgﬁ;ﬁ;ﬁﬁ%
(B)  STaTeveTS Yaw %Qmﬁmmﬁmmémz‘%%l e
(©)  wETeT Wiy il e

(D) FER Fverins g
Who amon th .
Wrote famougs boe Cloving persons

. ok “The St
Experiments with Truth” 2 ory of My

(A) Maharshj Dayanand Saraswati
(B) Jawaharla] Nehru
(©) Mahatma Gandhi

(D) Sardar Vallabhbhai Patel

[EECEIFELETES P S U

(A) USTE fRfReT (B)  areem Ryfeo
(©) T TS (D) T A wE A
Greenhouse gases in the atmosphere
absorb most of the Earth’s emitted

,  which heats the
atmosphere.

(A) Ultraviolet radiation
(B) Infrared radiation
(C) Visible light

lower

mw-‘@?ﬁmﬁnﬁiﬁﬁ%ma
, IR, TS, wif, 3B aft

| i AT T A R
%v‘ﬂm=@®?ﬁwwé‘cﬁ%|aﬁmaﬁ
ﬁm%‘aﬁm%ﬁiﬁmm@%%l'&%
ST R 6 S w3 R #, 7w i & 3 B d R
R RS T R B | R s W
@ A Em, W, T, BER s 9
A T & =afr A § s o dae
€ Tl Y3 § T I o gReE R e 3 O
IS 1 T vere £, T a3 v = e
AT T L ASA 2 | TH g I=gEd, T,
IIATHIEM, TR, FEF % wiy eaE 3
mﬁm@mw%?ﬁt%%lgmﬁﬁ
e g TE g TRy A Jersan ® | Fa
T % o Sfiem 3Fme § | R % A | 9 3FEE
e w7 | vEet @ i <61 R & W R | v
3 37 T 3 7 A e gl v
TG ST | Hler €l Tél Theil ash A il ug
T B | 9RE % FE TA A T EW A Gl

m”&% (D) None of these '@Eﬁ% 3R B TR <1 IR G A TAEER |
S mm@ﬁgﬂwﬁg@ﬁ%wﬁ%m
atehata frefeiaa o 547 o 1 g it 1 | <
A% A etk 6 o gz @ ? | Ry T Fwel # | @
BESIE = 1 A F1 R 3 TE g;ﬁr ?
(A) EERREn (B) A9 (A) G- TG T A |
(C) I (D) A FE T (B) wmwﬁaugé@msﬁraa’laﬁ
Volleyball is a national game of which st éa_ b e et
among the following countries ? © ;ﬁﬂ Hiet | HEHITH
(A) Indonesia (B) Nepal O wa'ﬁ?@l < et B wf |
(C) Argentina (D) None of these | _@__
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" 55, Hw w1 de w0 A gansd H
e Eau e ?
1. wfe remd
2. 9rTETH AR EIE
3. e s

4. wAfaS .
(A) 1-2-3 (B) FHAFRETE
(C) 2-3-4 (D) TEad
56, 3T g # WEE el w1 HOA WA AT
w=li % fore T8 S A AW R 7
(A) TEYE  (B) w=isHi-aM
(C) s=i®wfm D) THTSKR
57, MWA & I Al § g 9 | 39 eieh

TG 1 s 0w R | 3 9

T TTA SO HFA TR 7

(A) Tsa @i 39 Tsg H Asfed
TERIAT T I I @ Y Ay
o o 78 € o T v @
R ag @R |

(B) S+t e e a1t ew & 1= -
S ‘e R wiaw W=l ¥
AR & Ao W frega =
EREcl _

(C) wi-am9 =i W & i T 5 3
o= T W R E, B S
@A € 3 fr At % w39
IST-ASTTR |

(D) wE=i 3R Hors F H-Tg O
s B R e g wm &
I I A PR g wW R |

; 3R w13 W
T e § G S A e 3 R il
a1 € o SiLTfL Mg 3T A ST ”ﬁ
X 3ieT TG T §, 9@ 7o 2 A7 A S ST
3 e 1 0 e WW - 3 LT g e
£ fop w3237 vt 5 §eb, TEIERIR
T TS el % foe @ 1 % oft U
T T T T 91 S=d 2l 2, 5 gidid B R
3R FTTEvEERa gg W AT & e St Eewar B |
Tl g a=eR fohee H =Ee % TdEE § @
e 71 w1 v 2 e Revare wan T S o
T 1 3o 8 & e | wee & v e e ke
1 7 e A 39 A R | SR g T
FCTHIEA T AT AR SRl 5 Rora Sl
® | = 5 T T s e R % g

%mﬁémmm‘ﬁm%l
58] WIeH 7ed) ) T U 9 Jaehl | B wmﬁﬁmm?1§q\m Pl USTE o
il v & e 4eh 2 ST 9. SR S 5 e oy e
() IR i e i i g mmmﬁﬁéﬂm%m'm’
(i) e % wfa T | R 3 e 6y m%aﬁ{féﬁ%
(iii) R HgeH @ | mmé,mmmﬁ&mw% f
(iv) = e e | ﬁﬁwﬁwm%‘ﬁﬁﬂﬁmwﬁ
(A) (), (i), i) THCH B 9 7 T S ol
(B)" TR - 1;3%% ?:gim‘*ﬂmm%lma@aﬁmm
(©) @), (i), Gv) mE | a;%ﬂﬁm e =t | e o
(D) FHATE EURIRED fo Bt
@

e e
e e
]
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TR ¥ (D) f"‘ (D) mﬁ-fmmﬁm’”ﬂ?l R
ﬁ@aﬁ mm * 2, 3 TYHq T 2 T[ﬁ‘@'ﬁz;n 4'(/10
ﬁq%zﬁqﬁ%wmqﬁm 3'641}68’&?‘%' :o&g‘i
Ty o, 3 . ) T Sopm ;
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T E g oLy o st 361 oo 3 e
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e W:%E; = o Py |- hﬁm“aﬁ”ﬁ oot Nem B T
A) @mqﬁaﬁx% - mg, ﬁgﬁ‘ ﬂﬁﬁ'g-%@
(B) ?ﬂ’lﬁzﬁamwgﬁm o /s oy
(©) w2 Frm e wie-dw B Tl e
D) ¥ o @ & EEA  number of students who leh e o
827 3=z % pecife compared to the pre.-vio:;vsho ki e schook
3 YR 9T Tam3w fn (A) 2011 BYearlsmaxunum?
EER ED R oR Prefrfiaa ©) 2012 (B) 2013
@) Fawa TR et ¥ 65" 20122 %013 (D) 2014
RS ‘Sba“.f@ ﬁmﬁmﬁm@%ﬁﬁﬁﬁw
(i) fram IFAE™ § garly ;1/ ® 2drtlt-.c?re:st:;%ng“fh of SChoo%g increased /
g %‘/ O ey mhes o, 10, 2013 B
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Higar g E
A G) 3 Giv o s The number of students studying i
@ oM @ oman | AT
1v
03 (C) 2850 D) 3 29(
10 €5 5 3lq.0
7) —*—{W e
“

7,

—3 =

g

T
Q.
an

FaRA (v #)

Production (in Lakhs)
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67. A aafy F A FW:{ of ad ﬁ. 3 5 \)/ ?{E crcentaée increase in
wftet 2R It T <l =2Fa 5 In which year the PEE G the previous
el G ) o ) it 3 production a5 <%

. e as the ma: : .
I R R 7 B o year A (8) 2005 (C) 2003 (D) 2007
The ratio of the least number 9 (A) 3 Tirarset 1 Jeqred
© students who joined the school to the ax fam Cill ?
\ maximum number of students who left ’ ] & afre Ieared 2 3rferes U7 7
S 4 school in any of the years during the S « ol the given ycars was the
\g*(«o %wcn period is - Inhow man. & "\ s more than the
A)7:10 (B)5:8 (O)7: 9(MD)>5: production ! MY Fihe piven vears ?

68. 2013 H T § gt T O TS, average production a7 LI B o
2016 % TRt § U a6t BT i FEA F G < 3 AT %
P v of 7 73" 2000 - e o 7
The number of students studying in the 39 - ' -~
school in 2013 was what percent of the Who niage
number of students studying in the inc: prod bile g1l
school in 2016 ? & 20 npared W thatin 200172
(A) 87% (B) 90.50% ,&% S, 166.67% (B) 195%
© 89.12% (D) 93.75% [EEE (C) 183.33% (D) 200%

§H.69%73:§mmmﬁ_aﬂ1 S . 74 R 78 : € Taftw dfa Sufel st w

Q.ql;l(os. 69 (ﬁ?-ﬁsﬁjl‘he bar graph and m‘ viie il ﬂfﬁm mﬁﬂg% !

answer the questions based on it : B g 2 k! %@.@ A3 A 4

Pmduf:rw?fmmhmmm(mi) @n%mﬁﬁmﬁ!ﬁmuﬁmiﬁﬁmw%l

B gten! lobile by company (m Lakbs) over the yoars ga Nos. 74 to 78 : There are five companies and we

3 4 have been given the number of employees working

B o in different companies. In the table we have also

- been given the percentage of male and female
EE T | - emplovees in account and research department.
B . ccount |  IFEEH/
£ 200 2002 2003 2003 | Research
w / Years Company|Employees| Y&4/ | wféemd/ | gou/ |wieemy
4 65 2005 s 2006 + 3w werEw x To— e Female | Male | Female
W x ' Eéwfﬁamaﬁ%‘i"‘waﬂ S 1 | T e I A
Top I & Feh TR o7 ¥ = g 550 |28 14 l4l ]73
(A) 2006332:2007 (B) 2004 3R 2006 — e N B T B > B
+ (O 200432005 (D) 2002 38k 2007 —sL 18 ¥ 3 77
,quﬁ "-"{ The average production of 2005 and | '3 2 v R 3 S GM
)JJ?“K 2006 was exactly equal to the average % U MBA < i IHEYH faym
| 3 production of which of the following 1 3 el 3 40% =gl
oo pairs of years ? Lo DAL T cr T = T8 MBA
; ‘H..f»,w( (A) 2006and 2007 (B) 2004 and 2006 & T FTR E F R st
._ ﬂ (C) 2004and 2005 (D) 2002 and 2007 T MBA i ferfi & ¢
‘ M 2003 | 2004 T HEEA F QA § Lﬂfﬂu’:;fi“": employees of company E in
, w e e fae fee o 7 and 40% cponment have MBA degree
(NN 39 What was the approximate percentage company in the rcmPIO)’CES of the same
: decline in the production of mobile A degree thecseha.rch department have
" m 2003 102004 7 have MBA degree in commeny, SMPloyees
0, 0,
A)21%  (B) 27% (C) 23% (D) 29% R)92 "(B)77 (C)106 (b 56
o 2 11 —_—
q‘j'i ;’&"g 2T, .- By nes ‘17~ x,“'—-o?
= w7 b T ] R

: g
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F ‘;;?7@1 FHarie ; T ——
&y SaRGAIE] wﬁm L3t Y G (] Py
The totg] ﬁna%qgﬁm A o W H. 79 R 83 : i afre e
of com numbe,.- OfaCCOU % ? % aﬂ‘mtﬂ‘ﬁam A.B.C ;;?T :Fﬁ{ Mﬂ
P, A o orleres | g S A S g
W, K
(3733 pHlovecsorchmnmberof | the Yos. 7910 83 : The folloing able gives .
76. s 238.54% (D) 234.%9%0? five states AchdlémBu““ of population of E
KL A 3k CeNi & Stcy T FMY line and]als’o aho B on the basis of
T Sl o o foam ™ on the basis of sex. I
5 . 1 S Frdg T v % [TWT*\
313{{;3:{ fam % B 3ix D2t State | Fa . Wﬂﬁﬁnﬁmm/ I
What j ﬁ:ﬂm%m% F wfenm e | Fenales a
s 18 the rati ? m/ ey 1
In aceo 10 of the - WA | i -
tsgélhdepanmem r(r)]?[e ¢mployees P;;cel:mgenr H1/ Below W/Abo? I
Z research 52 ‘0 the femax?é’;l”?“ . Below the | FOVETt Line | Poverty e (
™" toggetherl??anmem in company | [ (
sl 11155 (B — | /My
X 7/ ;
(© 43183 (D; %»%{87 %-LTL&?& S
77. aft Fufrgt (g None?f—i?_gf/ ‘C\ ﬁ%‘#i '/l‘ -(
frm (FH D 9 © SE B _T"'“ L2 2:3 g ’
P 8 et et e o | e ] o
Tft sfa (3 g t 53 | 3.5 | A
Blgwr) - 3§ A (F9 A sk 9. ' 2
) F s E® T D A T Y Y ww -9
FUET ) 5ot v M % g RfeTTan 4 g I aret | 2
I Feper L & % g £ w0 g, 7 78 T A
What is tl%?d B (AUWD@W.]%W%? (L'L\
¢4 i )
Pl s v ve | (O Do ) o
ment j es of accou : D
(excluding C’(’,‘m;gn@mpames togethes What will be the n( )b 49 L5 =17
gmp]oyees of researi:hl?i)epi?? the male above the poverty linl;n;n i; of females
ompanies ment in all it is k e state D, if
1;_; company A and Byg " (excluding DR -y, e Poglalion of state B3
TR (A) ~ . b on ¢ » !
I (A)~ 128 ®) 142 - & (A) 24million (B) 3 milli
(C) 138 ~ C . million
(D) THABET/ ) 13 million (D) 3.6million
86
e ¥ None of the'se ng_ca?mnﬁaﬁ@@mm A
f .‘a“‘m" FHI B <l Hfgen Faiet mﬁgaﬁml.sﬁm%’ﬁ :
YE‘S‘G@' 3gauH favm # Fwf C % C ! Tt T et 2 7
What is thea?atio ?ﬁ?““mm% ? (A) 45 (B) 525 fufm
female employees gf éoc mumber of © 5Pt (D) 5.7 faferam
account departm mpany B in If the male population ab
ke employeegengfto the number of line for state C is 1.5 mﬁl_ove ﬁovcrty
c 5 . 10
r;search department ? g 1 e total population of state C i -n’ then 12
(80312 (B) 13:4 (A) 4.5 millio % !
~ "G35: 11 D)y 413 © s n  (B) 5.25 million
03 : million (D) 5.75 million
2140 \ —
3% e e -
3.5 B4e =3 ; A — S @
1S ks v Y % @ 1S
; - ! ) i =
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e YTH,
— fora 70 F T g
T A gE T I %
s (3 e e e e - 3 7 * ,,8{ —— ? A A0
w/uﬁmna:mﬂﬂiﬁ T g ph ® T
& e 2.4 ffe 3t (™) ) e sent
o 2, 4 it B AMCEH o & incd enlighten™
& fo 6 & g ( tam Bu ha an?m"'\'cr
i u hich river
ﬁmmﬁ%: g:(hc bank of Whic 1: IH Gandak
If the population of 'malcs bclll::): A) gj:ﬁf: (n) Njranjana |
poverty line for state B .1151.2-4 J?eln the © T f=fafed A
and that for state E is 6 million, A% o e o @
total populations of states B and E are M/géaﬁ? : .
in the ratio : 2
AT
(A) 2:3 (B) 1:2 )
€) 3:5 D 1:4 © -
8 T ¢ g e 4 ffer 8, o -
./H aﬁmpﬁnﬁﬁ’t@éwaﬁm ?h' o \5) Pataliputra
g . afenaf i e w7 HIRC | (©) Magadha (D) Kurukshetra
2 fuferm :
AL 12ffmm (B) ” i g feg @ K AR
2z () 18ffmn (D) 24ffE “m’ga? ) TR ot 7
~
% ; If the total population of state C is (A) TS (B) sifew
,7/"\ 4 million, find the total number of ) T (D) TF®
females above poverty line in state C. Which of the following army’s strength
(A) 12million (B) 2million was “Guerilla warfare” ?
1.8 =7 (C) l8million (D) 2.4million (A) Maratha (B) British
(C) Mughal (D) Nayaks
S TR A F fore el Y & I A o
e T S o 8 7 T A 87, TS WA QA ST el (FihT) H
¥ fore e e & e o e e e S T R
) TITeh 1 FETE fehaT T AT |
18 faferrd 7 (A) et TE
A) 2.1ffwm  B) 3.55 fufemm (B) ereficra et
(©) 25fufem (D) FHIBE A ((l;) mmﬁ?wmﬁ .
What will be the approximate male (D) ( )
. : ___ technique was used for
population above poverty line for state making bronze statue of Dancing Girl
A if the female above poverty line for during Harappa Civilisation.
state A is 1.8 million ? (A) Stone carving
i R (B) Ivory carving
2.1 3.55 mill o 1.3
(A) mlillfon (B) million (©) Wood carving -
(C) .2.5million (D) None of these (D) Lost Wax casting lo.B *r-
@ 1,9 — 7 k= 13 7 =1y ' .
- ) '7=£1 (.— 1.8 ’;i{ ¢ .Leﬁ’g’oﬁ()?’ .
2 =7, y oy
w1z % | % §-» =T L = v 2%{-
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Write lhe name of fi
demandeq

ISt activist who

ich was an cxamp , 4
;zl};:;lr]ity of the British government in

comp] 3 ;
(Pooma SWaraj),mp €te  independence the provisions gr the Government of
A M Co India Act, 19357
& Biaighié);:r Ahmad Ajaz; (;‘\) SPL’?i“l.PO“crir:\?lr.,cgr](:;crnor over
© Bl Gangegr L
8adhar Tj]ak 4 ;shment of federal bank
ablishment 0
(D)  Hasra Mohani ((I()‘; g?ialzlcl)sn 12;?p0\\~cr A
. . t% £ w PefafE §
Fefofen 4 4 Ry R i o =H ?ﬁgﬁ ; v
T T H7 777 2 5 ﬁm%m@f’_g '
(A R e % a2 v ey e A
 fore fort oy | ®) mwwagﬁmﬂgq—za
(B)  Fermr g ) e :
tfrfyam, 1399 (D) FHAFETE i
©) et ) R w1 it HoED Forward Bloc “‘?‘ng,?“”dc‘j .
. 3 X ong the following 7
(D) 53 iy gwtioRor safuafierm, 1900 Bl () " Mahatma Gandhi

%ich of the following js considered as
major cause of Swadeshj Movement ?

(A)

®)
©
(D)

(A)
©)

In which of the following languages
British showed keenness in introducing
in Indian society ?
(A) Sanskrit
(C) English

e e

.Funding for police and railways
Instead of women education,

Calcutta Corporation Act of 1899.
The decision to divide Bengal.

Punjab Land Alienation Act of
1900.

B) f&&

& '
(D) wHAFETE

CpEil

(B) Hindi
(D) None of these

(B)  Subhas Chandra Bose
(C) Sardar Vallabhbhai Patel
(D) None of these

93— faemha IR 91 I9H F Herew e F

feota 2 v e oo ;-

(A) fegait aagta;ﬁwﬁ & = afs
WT I v 8

(B) daredl i gEemH| % e s
R TH & oY |

(©) fegail i fomai & dim arfrs
Tl oM o e |

(D) FHIRETE |

The main reason behind Mahatma

Gandhi’s decision to take up the

Khilafat Issue was: §

(A) To bring more unity among ’j P

Hindus and Muslims.
(B) To bring more unity among
Christians and Muslims.
(C) To bring more unity among
Hindus and Christiang,
(D) None of these
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.—_—--—-———-_--o--"""——"‘_ E » a; 3%3-{‘ -a,
._._--—-—‘"""""""—-— “ a; m .
ety g T gg, ‘TR TS of et T
g4 wT@ A e 3 ¥ qrat 51 ?
T 76 2] o reaeia AT
m % ? V&i@ (1\) i m
Ay o @ oI
; ety A RISkl
@) ¥ © _ |
(©) mﬂaﬁaﬁ‘ﬂﬂm D) ‘ﬂ’iﬁﬁ qta.vﬂe [ of “Growih with
(D) T i ;Vig!ntyo’pjcﬁﬁsc ong the following
At which among the o owiqgfplacce; 12 F;?/elYear’ plans was launche
India, one can find wide ;{1}1{ eren oy 4" Five year Plan
day and night temperatures ¢ EB)) o0 Five Year plan
(A) Thar Desert e ¢ Plan
B) Kerala © 3 ;”: ;{Zi; Plan
(C) Andaman and Nicobar Islands @y b
(D) Goa ' ; ﬁ,‘gﬁ '&Tﬁ'ﬁzﬁ a1 a‘l]?ﬁﬂ
2 S W a8 ) sraEE A € 7
Wﬁﬁmﬁmméﬂ(mﬁﬁ?) 3 T o Ene
3 fefora fF T 7 (A) &
Into how many major time zones, i the zafire aTel STH
world dividcd}']? : & A g%
@A) 12 1 o fE
(B) 30 (D) THAPETE
©) 24 Which among the follovging COlllSiSts ol
. i individua a
(D) T YR 81 / None of these lgffé\:r;czsfir?c;vi?ieddua?g? individuals or
96— Prefa § & B SHEE wRed (A) Public Sector'e —
wHE TR ? (B) State-owned enterprise
(C) Private Sector
) T ®) " (D) None of these
© T3 (D) = :
Which of the following is not a 1607 39 ST T A Farsy ol “‘Iﬁsﬁ 8 %
component of population change ? F53" % w9 H AT AT@ 2l
(A) Morbidity ~ (B) Migration (A) TmaA
C) Death i i
O FEEn T FrefRea § AR R 7 oy i i @
(&) F=H (B) TS (D) IR~ WA 3 awi o
(©) Pewemn (D) W= Name the forest which is known as the
: ” . “lungs of the pl »
Which Lo A planet earth”.
of L;k:}gg?v%ge?fouo‘“ng is the’capital (g) Taiga forest
28 I;Tvmatti (B) Aizawl EC; 1312‘:zr§nfc:'::tf0rest
ilvassa g .
(D) Port Blair v (D) Rain forest of North-East India
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